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Section : General Intelligence and Reasoning

Q.1

Ans
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Question ID : 264330104936
Status : Answered
Chosen Option : 3

Q.2

Ans

I Y BT 79 S RH B 3y § I yeR ddftd & 9 vor fafufea
e et bty

(Fite: TEms 1 TP g 3wl H fquifora fore famm, gof wemait w nivrdig dferans #t

S AfRT | TR & T 13 - v wiftsang SR i Sesae Ao S st 13

U far oI Jpar 21 13 B 1 3R 3 W fauriora &= 3R fihe 1 3R 3 wR nfordiy Aftramg

P P oAl T B 1)

(34, 23, 12)
(71,37, 3)

X 1.(14, 12, 16)
X 2. (75, 50, 20)
X 3.(20, 65, 50)
& 4. (19,55, 91)

Question ID : 26433079118

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Question ID : 26433070439
Status : Answered
Chosen Option : 1




Q.4 3T T FHteRu &) Hqferd B3 F e i o Semait 3k i &) fgY & e sgan
212314x49+400+5=596
Ans X 1.14 3R 5, + 3R x
X 2.686 3R 5, + 3R -
X 3.14 3R 49, x 3R -
o 4.53R 49, + 3R -

Question ID : 26433070243

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q5 g aftevur w1 wgita a1 & e 5 o wemasit 3k i 3 Rl & R agan
m—sxzsnoa
Ans .y 1.8 53R~ x
X 2.8,44 3R -,
X 3.8 53R+
X 4.844 3R - +

Question ID : 26433069193

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.6 fIpeul # foum mar Hi9 w1 iR FufiEd e & uufug (?) F R W 6T §@ar &)
Q, ?J"Z ,G,?
Ans X 1.G
X 2D
X 3.F
« 4.E

Question ID : 26433066009
Status : Answered
Chosen Option : 4

Q.7 = fou U wy &, IR e g fu MU ¥ | vde g # (<) & 9t ok & S Wew () &
Y 3R & 1S TRen | el adb i audy @ waita @1 9 g S ue abRaady
F YR W g9 7| T ¢ fRyeet & @ faww &1 g )@ §: s ot 396 des
3t # fyunfora fpu fam, gof wRemait w frand Fofea &t s @rfde | Serevor 13- -
13 R AfhaTd S % 13 B Se1ae Ao 31 1S frar s awar g1 13 H1 1 3R 3 &
dreAT 3R 3R firR 1 3R 3 WR iKY wishrand A Ft srgafa T8 @)

Ans X 1.9-80
X< 2.11-120
K 3.5-24
& 4.7-52

Question ID : 264330105055
Status : Answered
Chosen Option : 4




Q8 TRRAxBITIHIEF A BFTRATE A+BITAIEfF A BF AR, A-BHTIHS R
& A, B &1 4TE 8, a Fafefad & @ o9 91 2vie g Fefud sxar g, ff A, c &1
ATAIEET 872

Ans X 1.A=B+C

K2 A+B+C
X 3.A=C+B
o« 4. A+BxC

Question ID : 264330104998
Status : Answered
Chosen Option : 4

Q.9 gqnwaﬁﬁaﬁmﬁwmﬁwﬁaﬁ@aﬁﬁaﬁqmmHﬁﬁ
2

—dYT x
Ans X 1.20x12+6-16+8=20

& 2.4x5-36+6+10=10
X 3.20x8-4:2+3=7
X 4.16x91+13+5-3=24

Question ID : 264330105123
Status : Answered
Chosen Option : 2

Q.10 T% FAfyd e YT ), 'BRIGHT' & 'TTKIJB' & =4 # foraT Sirar @ 3R 'ROAST! &1
"TQCUR' & &4 # for@r SiTar g 1 S HIST # 'AROUND' HY $ ferar smam?

Ans X 1. TTQWRD
« 2. DTQWPA
X 3.CTQWPF
X 4. RTQWPF

Question ID : 26433067564
Status : Answered
Chosen Option : 2

Q.11 uw [Af¥a e Ut &, 'CAP' B '262413' F TU W Heds a1 w1aT @ 3R 'LOG'
'171022' ¥ U & Hedas a1 wrar 81 I uTeT & 'BED’ T fhH PR Feds fHan
STgm?

Ans 112025

< 2.11825
< 3.12027
< 4.12225

Question ID : 26433067333
Status : Answered
Chosen Option : 1




Q.12 Select the option that is related to the third word in the same way as the second word
is related to the first word.

(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the

word)

Commence : Begin :: Doctrine : ?
Ans 7 1. Belief

25 2. Conduct

/< 3. Study

/< 4. Duty

Question ID : 26433068339

Status : Answered

Chosen Option : 1

O 57w @1 T S G 9 ofte 5 Y@t & gl Higw sar o

ThaT 2

il 1 : 1
s B s |° s B 6 [
A B (53 D
Ans X 1. PHAAA3MRB
X 2.FaaAsRC
o 3. FaqC 3RD
X 4.FaAA B3R C

Question ID : 26433070353

Status : Answered

Chosen Option : 3

Q.14 IY UG- HT T4 Diforg, S Step I Taer T FA=qor Ha1 8, ot day 2w e sy
Teg-g | ferad 21
(gt @Y Srfyul RIsgl & =T F AT ST AIRT 3R ek & feRY Pt YA/ Pt
TR F &I F YR TR RER Gefird 781 g anfey)
TSH : Hble
Ans X 1 Slae:gdl
2 2. 3TYT : gt
X 3. Tt e

& 4. AR $e

Question ID : 26433068427

Status : Answered

Chosen Option : 4




Q15 e av fawedl & § 3W Apla F1 T97 ST AT e g@er F g

firest (2) & wfawafa &t o B

F |
o 9 ?
G| J
Ans
L
ol
M
L
x2 @
M
M
vs @
L
M
S
L

Question ID : 26433057724
Status : Answered
Chosen Option : 3

Q.16 W&g%wﬁmw%,mﬁwww%lﬁqwﬁﬁﬁﬁﬁﬁwmqﬁqﬁﬁ
ST H

2yl

TMTQ, WGCE, ZALS, CUUG, ?

Ans X 1.FRMQ
« 2. FODU
< 3.FMRS
& 4.FORQ

Question ID : 264330104816
Status : Answered
Chosen Option : 2




Q17 zg smgly # wa Ft F T Apa-gEer § wARET (?) F T W HwE?

= o B ! | ®
| ® A
b 3 A ¥ A % =
Ans
- ®
> 1. ‘
= ¥
[ ®
v 2 x
= A
m ®
X 3. *
= A
I ®
X 4. *
mp b 4
Question ID : 26433083106
Status : Answered
Chosen Option : 2
Q.18 39 BT 994 P R Ty 3o & I v wefia & for v Hafafea
| Y TEATT 3y | Haftd 2

Ans

(Fite: TEmsil Bt ITF gew il | fyutima fary famm, gof wemsit w nfordg wfeang #t
S TIRT 1 ITeRVT & Y 13 - Kty Aferant 9 % wisArae AN S3-1 3afs 13
T forar o Wrar 81 13 B 1 30 3 & v w1 3R 67 1 3R 3 W nifvrdia wfpang

He B 3gAfa TE B 1)

(144, 9, 3)
(225, 7, 8)

< 1.(168, 5, 8)
X 2.(81,6,2)
X 3.(120,7, 4)
& 4.(64,5,3)

Question ID : 26433070232
Status : Answered
Chosen Option : 4




Q.19 el ¥ 3 3T IY=Y 1 79 B R § 78 Tensit & fta a8t ddy 3, 5t day
M Rw Tu T Y Sensi & fia g
(FYe: 3! el R His off w@firar 3% gew siwl ® fyufora fave fam, yof wwemait
WA FFTZN)
(60, 5, 6)
(48, 8, 3)

Ans X 1.(17,3,4)
o 2.(24,4,3)
X 3.(25,4,3)
X 4.(25,4,6)

Question ID : 26433069245

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Q.20 fmfafed vy & § 715 4@ § & g $iF Jd B
69, 70, 73, 78, 85, 2

Ans X 1.76
& 2.9
< 3.9
X 4.85

Question ID : 264330105009
Status : Answered
Chosen Option : 2

Q21 G e airepfe 1 =10 HHRTC o € s oy () S U T F i g2 © (rpfa S e
SHAHR E 81

W.Z&
B
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Question ID : 26433068907
Status : Answered
Chosen Option : 3




Q.22 3y T HYFT 3R frswm el #) eagd® U | g A gY 5 wuel A & 1 wrenl aw @
Yd & 98 = U ¥ a9 | i geiia gt 7, fHofg % fp fow e et A @
P AR e HYy=1 &1 aIfh® T A SFER HIaraa 2|

DY
i 49, @e §
mﬂ?zﬁ%%
PO, SN El
e At
I. $O a9, I
||.§wa—;§?;,ﬂ=r%|
. T §ied, ¥ 1
IV. B T, We A 21
Ans X 1. %ad Fsp IV 3TERU ST ?
X 2. Pad frsp | 3TERUI BT §
3. Had B || 3R BRaT &

X 4. Faq fIsp 111 STER0T HRaT §

Question ID : 26433068554
Status : Answered
Chosen Option : 3

Q.23 AU 7Y Treal FT SIS AP &b IR ARG HIA & YT, P I Vg U’ R
TR 3{TEIM?
1. Devotional
2. Devolution
3. Devotement
4. Devocalize
5. Devoutness

Ans X 1. Devocalize
2< 2. Devotional
«” 3. Devoutness

< 4. Devotement

Question ID : 264330104908
Status : Answered
Chosen Option : 2

Q.24 fafafae ar R ¥ F 94 el A adie & TuH § 8 39 YR te 9g
T &1 DI T SHER WA 39 TYg & Aafird T8l 872
Ans X 1.KPR
2. QLA
X 3. DWK

& 4.BYI

Question ID : 26433081494
Status : Answered
Chosen Option : 2




Q25 A&BHIAYRH A BB T
A#B RIS EF A BIITEAE
A@BITAYEfF A BHTUE &
A%BHIATRfF A BHIfUaT
A-B@HT3dgfF A BHTRE
A*BHTAFRfF A BH U &

GECHD@E%Z&L#M-N*P g, dl 2z N3 fra v Gefta 82

Ans X 1. fodr
K2
& 3. T/
K 4.aa

Question ID :
Status :
Chosen Option :

26433065968
Answered
3

Section : General Awareness

Q1 frgn-T-RRe F M F R T SfAgaR ATl

Ans X 1. 3ATIEH WSl
X 2. PEEH WP
X 3. TG gAad
o 4. GIAH SegariR

Question ID :
Status :
Chosen Option :

264330105424
Not Answered

Q.2 fEfIfEd o | $I9 91 AEIa FIcd TIPR GRT THAR TR S0 § D! faRmaa

TS IR AR P} HoudT &1 9y 7911 P oY smaifora fovar siran 82

Ans X 1. BT AT
X 2. HaTe TeIdd
X 3. EIuH Heled
4. UgeHd T HRIed

Question ID :
Status :
Chosen Option :

26433071456
Answered
3

Q.3 wgrEHIfay Uisd for Yaadfa gierAr & @y fomar war 412
Ans X 1. drft

X 2. el

o 3.3l

X 4. gl

Question ID :
Status :
Chosen Option :

26433065436
Answered
3




Q.4 St wifa (ada YaiegRe) St Fiia R ok MRt waray grRT owy ok ik &
%= foan o411 g wifd e #Y @ & Saita 82

Ans X 1. HIERI A
X 2. H %a
o 3. AR
X 4. fewrem st

Question ID : 264330105294
Status : Answered
Chosen Option : 3

Q5 “Ifagfa g srme_ H e d g AT
Ans X 1.1902

X 2.1904

X 3.1900

o 4.1906

Question ID : 264330105571
Status : Answered
Chosen Option : 4

Q.6 Wﬁﬁﬁﬁwaﬂ@maﬁu&aﬁamm%mmwmm
?

Ans X 1. I=dH AR
X 2. T WBR
X 3. 3 e
o 4. 998

Question ID : 26433064841
Status : Answered
Chosen Option : 4

Q.7 aferar 3R =ifeft e 6w arer o &) 7o & forg S ol 82
Ans 1. GiafeE

X 2. We

X 3. HeifeH

X 4. 9gd

Question ID : 26433064780
Status : Answered
Chosen Option : 2

Q.8 3T 2022 ¥ URA F WIW G20 TH-GTF & w0 A fpd frga fomar war a2
Ans X 1. S dgat

X 2. 4 gemre Bl
« 3. 89 9t g
X 4. 3fine g

Question ID : 264330105333
Status : Not Answered
Chosen Option : --




Q.9 In alake ecosystem, the primary consumers are
Ans ” 1. zooplankton

< 2. phytoplankton
25 3. bacteria
/< 4. fishes

Question ID : 26433089654
Status : Answered
Chosen Option : 2

Q.10 7T §RR AT H gl € & g™ uR S faar s 71
Ans 1. TT A

X 2. Tar

X 3.fewR

X 4. 3y TR

Question ID : 26433071422
Status : Answered
Chosen Option : 1

Q.11 =g G gr1 FAffa Aerie Tse & v A @ @A wrar 82
Ans X 1. THUN A

2. s THAS

X 3.3

X 4. FEJS

Question ID : 26433089222
Status : Answered
Chosen Option : 2

Q.12 SRpeard d H% v (Jga a15) fewe Rwm didt 82
Ans X 1. fisd @

& 2. 9B DI

X 3. e B

X 4. vfoeifia &

Question ID : 26433059434
Status : Answered
Chosen Option : 1

Q.13 fmfafad <o - i & %Wﬁﬁaﬁqmaﬁgﬂﬁa%ﬂw Uf3HRR iR
IR HRA II. IIPTCD - HeH 3T

Ans X 1. Had |l
X 2. %ad |
Xoaagiaa
o 4.1 U1 ST

Question ID : 264330105179
Status : Answered
Chosen Option : 4




Q.14 Joint Liability Group is usually an informal group that consists of
individuals who seek loans against mutual guarantee.

Ans X 1.20-30
o 2.4-10
< 3.15-20
X 4.1-3

Question ID : 264330105371
Status : Not Answered
Chosen Option : --

Q.15 Tfe Q = Y 3MAT, t = JAY B, A Frafif@a & & -9 aeftew 98 22
Ans X1 t=0QxI

&
2 I—t
X3 I=0QXt
. I
X 4. Q=;

Question ID : 26433066451
Status : Answered
Chosen Option : 2

Q16 Foam-A = FeE-B T Hena ST

FITH-A Fierm-B
i. G1 a. FF DNA Fr & ff wfafafy & weervor s 8
ii. S b. &S 3RS 0T, FIFT AT § & T g 8
iii. G2 c. FIRH FHRGAT H A F 39A FHA F IS FA Y F
& F
iv. M d. IR HU FIA T 7T DNA AT Tserverss &1 ar 72
FiREE w5 & T Rwfee s &

Ans X 1.i-a, ii-b, iii-c, iv-d
& 2.i-c, ii-a, iii-b, iv-d
o 3. i-b, ii-a, iii-c,iv-d
& 4.i-b, ii-ay iii-d, iv-c

Question ID : 26433082212
Status : Not Answered
Chosen Option : --

Q.17 3s (W) BT WA HHG T 8?2
Ans 7 1.82

X279

X 3.78

X 4.81

Question ID : 26433086605
Status : Answered
Chosen Option : 3




Q.18 e g Fafufaq A @ frw srfdra & Toifoe 1% 42
Ans X 1. SATERAE 8%

X 2.y Rig

X 3. TEre Tfedt

4. QU Ig 9

Question ID : 26433089155
Status : Answered
Chosen Option : 4

Q.19 BIBT 38319 AfgaT fay HU 2022 FTMASH ___ gRT fbar wmam|
Ans 1 YRd

X 2. sf|

X 3.3l

X 4. @R

Question ID : 26433071375
Status : Answered
Chosen Option : 1

Q.20 YR & Afeal & Bival & Rre f5a 7 R ugd Arge A= viage TR a1
PHURY o mar ur?

Ans « 1. 589
X 2. H1ad
X 3.7
X 494

Question ID : 264330105274
Status : Answered
Chosen Option : 3

Q.21 is a change of position.
Ans 7 1. Motion

5 2. Speed
< 3. Velocity
5 4. Distance

Question ID : 264330105469
Status : Answered
Chosen Option : 1

Q.22 grftor URA A 201112 A TR U Ted QTR
Ans 1. 30.9 Ufaerd

X 2.35.9 Ufazrd

X 3.25.9 gl

2 4.20.9 gfa=rd

Question ID : 264330105525
Status : Not Answered
Chosen Option : --




Q.23 YRa P Wfaur o1 el & S a1 sgwe dfuE § S & H6fta 22
Ans X 1. 3[wG 360

X 2. 3J=54 355

o« 3. 3THE 368

X 4. 3T=54 365

Question ID : 26433086764
Status : Answered
Chosen Option : 3

Q.24 7% AR gaeh FafifEd § A fra yRdT ey T At F uliues 82
Ans X' 1. HYD

o 2. TGS

X 3. offsh

X 4. Tl

Question ID : 26433064654
Status : Answered
Chosen Option : 3

Q.25 Trforsa 3 = A fay o1 Te FRd HETR B 132
Ans X 1. fgg U8R

X 2. Ui HgNRTR

X 3. BT TERINR

o 4. 3TAICH TERITR

Question ID : 264330105626
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q.1 Aniron rod with diameter 4 cm and length 12 cm is drawn into a wire of length 12 m of
uniform thickness. Determine the thickness of the wire.

Ans X 1.0.6cm
& 2.07cm
« 3.04cm
2 4.03cm

Question ID : 26433065029
Status : Answered
Chosen Option : 3

Q.2

uﬁﬁ:%% p =0, (p+§) = AT AT Frfemw
Ans 7 1.25

* 2.1

X 3.15

% 4.10

Question ID : 26433075033
Status : Answered
Chosen Option : 1




Q.3 S 250 km @ g3t 50 km/h P} AT | ! TATHR 99 BT & 3R B a8 350 km P gt
70 k%gmﬁﬂ@awmm%l T8 9T F R SHPT 3T A1 (km/h H)
EIG] I

Ans X 1. 58 km/h
5 2. 65km/h
< 3. 55 km/h
 4.60km/h

Question ID : 26433061134
Status : Answered
Chosen Option : 4

Q.4 AABC 3R APQRW AB =PQ 3R .B=.Q&I TR 2, A YT FHIUT eI (SAS)
UMES & AR & By Fafmaw §1
Ans X 1.BC=PQ

X 2.AC=QR
« 3.BC=QR
X 4.AC=PR

Question ID : 26433081620
Status : Answered
Chosen Option : 3

Q5 A 3BT YT HT9 : 5 & UTd § TP Fawrd A o= fowan| afe g and &1 10%
%ﬁ%mm%aﬁ?Amﬁw Rs.29,840 8, @ $& @Y (Rs. H, Fdean guife aw)
?

Ans 7 1.Rs.51,575
& 2.Rs.55,715
X 3.Rs.51,745
&K 4.Rs.57,545

Question ID : 26433075757
Status : Answered
Chosen Option : 1

Q.6 A ABC 3flR A DEF ¥, -A = 55°, AB = DE, AC = DF, E = 85° 3{R .F = 40° 8| S A UI &
3T A ABC 3R A DEF HalTed 82

Ans X' 1.SSSTU
2 2. ASATITT
« 3.SAS T
2 4. RHS T[0T

Question ID : 26433071288
Status : Answered
Chosen Option : 3

Q.7 U® AR Rs.400 § 4 fHT T AT BT 31T 5% & ATH W 39 a1 21 I 29 AT &Y {5
ATH fA=TT IR ST i A1fh IR AT UR 25% @Y §1?

Ans 7 1.45%
&< 2.30%
< 3.25%
& 4.20%

Question ID : 26433063862
Status : Answered
Chosen Option : 1




Q.8 TH PREM H 361y 3R oo ER Bre & e T € 7= ) &4 $ed §, afe ar)-
IR A 9 F ATYR W | S UgA He P oI o1 a1 & ok = faor ey 8¢ & R
HTH DT ¢ 3T S e 3N BTH A | 35T BTH DI 6 U § T PR Jhdl &, Sdfh
faora 33 16 92 T RT BT § SR I S(ET-AT HTH B & | Afe I TR-a_Y TR W
Y BT START IR T2 §, O 3 P14 3} fraa w9a & [T 2 9d 872

Ans X 1. 9He 30 e
X294
X 3.8dc
& 4.87%¢ 30 fiFe

Question ID : 26433082513

Status :

Chosen Option : --

Not Attempted and
Marked For Review

Q9 ﬁﬁﬁ@ﬂ*ﬁwﬁmmﬂﬁm%ﬁwwﬁ?mﬂﬁ% @ Svafy
=t Y@t @) Te w1 S|

Ans X 1.5
& 2.4
X 3.2
X 4.3

Question ID : 26433065316
Status : Answered
Chosen Option : 2

Q.10

uﬁ:cotA=15—2%'F|’fsinAa-Trm?-r=?

Ans

x 3 13
2

12
13

Question ID : 26433061369
Status : Answered
Chosen Option : 1

Q.11 3RTYT 39T T U B F 3=y et B, et ga iRy 10 quf & 3 71 g Wt 1 vl
RT3t S aTelt WIYRr ST ) a1 o 82

Ans X 1.25%
X 2.18%
X 3.22%
o 4.20%

Question ID : 26433080332
Status : Answered
Chosen Option : 4




Q.12 222, 642 3R 1062 PT HETH THYGIP (HCF) gl

Ans X 1.2

K24

o 3.6

X 4.8

Question ID : 26433080076
Status : Answered
Chosen Option : 3

Q.13

fow 7T & MW A y-3 W 3T aFaar F1 S Fogeiam Tar & i S oifed o g
AT far gifedr i wle #1 99 x-3787 97 ST T g

ap 84 Bh

80 72

70 &85

6 | 57

50

40 +

30 4

20

10 +

0 1 T — T T WX
2011 2012 2013 2014 2015 2016

¥ 2014 # = qifery o Gy safEaat fr e A, 9§ 2011 7 9 o arer cuiEaar &
TEA T T F FoT e wfeg o g3 (0 gudeE T O We?

Ans X 1.26.4%
X2 23.1%
3. 33.3%
X4 35.5%

Question ID : 26433080143
Status : Answered
Chosen Option : 3

Q.14 Q) Yyl HHRT: 48 5.1 reier TUT 60 o5, 7. /HeT & wrer @ faudta fe=m & =« ¥ 31
efift =t arelt Yot g A%t e arell YS! # 9 U SRy oY UR B | forar T
TG 12 Vs g1 i a1 arelt YS! F Tars | g2

Ans X 1.180 Hicx
« 2. 360 TR
X 3.720 "R
X 4.480 Hiex

Question ID : 264330105699
Status : Answered
Chosen Option : 2

Q.15 tan 6° x tan 45° x tan 84° T HI- FT &2
Ans X 1.tan6° x tan 39°

& 2.1
25 3.tan 6° + tan 45° + tan 84°

X 4.3

Question ID : 26433058823
Status : Answered
Chosen Option : 2




Q16 pfrsing-Cos® = g% ar sin6+ Cos® T AT AT HifarT]

Ans 5
F f‘—z )
x2 V24
5
5
3. T—
AR
V34
o4 ——
5
Question ID : 26433092153
Status : Answered
Chosen Option : 4
Q.17

T 7Iv W% F semEs St 3T A B AT w7 3w &)
T 3TOIT-37e0T TEE W U I8eT & Fuiiyg SeEEnt 3T It sedeent & o (deEr J)

B g sefigar B S oniEm

w
w o
b=

uw
(=]

[

o

]

w o
—t t

-

[

aufiaan & d8n [dEa &
1]
w

oy
o
t
o

o wn
t

C #ir D Fewet ¥ fAemt 0T @ a1 sEfea & #e B AR E wewet @ e afen
# 3ufevs sHfearl & 5 HEm & Fe R sfave (Reean ol & quifea B ) 2
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Question ID : 26433093253
Status : Answered
Chosen Option : 1




Q.18 13 & 77 arfrpT 5 TSN BT HY Yed qUT AT Ufawd B gl B

IE | FT T | o
P 450 90%
Q 250 100%
R 600 60%
S 730 70%
T 400 80%

TG P 9UT Q T $ fashd Yed axg R, S TUT T & $al [45pq Heu B fver1 wferzra 82
Ans .y 1. 46.38 Uf=Id

X 2.49.27 Ufa=id

< 3.36.26 Hfa=rd

X 4. 35.87 ufa=rd

Question ID : 264330105708
Status : Answered
Chosen Option : 1

Q.19 3 & 7¢ aifRret ©: it et A < Qe & T A9 ard et @t e & gxiid 1

ercy

Ta| L | M

D 82 | 136

E 68 02

F 56 72

G 78 04

H 44 86

I 100 | 108
T D AYTE A W L H HFT A a1l FAersal 3 T@m, 7Hd H a41 1 3 /a M & urT a
ara fRaTfsal o T | e ufawe w9 82

Ans X 1.32.52 ufawd

2. 22.68 Ufa=rd
2 3.26.22 ufa=ma
X 4. 4353 yfa=d

Question ID : 264330105752
Status : Answered
Chosen Option : 2

Q.20 TP gPHGR A, Th Ul BT 3ifthd Heu T Fifda 7 W @m1 g gPHER 15% e a1
2 ok 3 Rs.1,445 W e B, at 3ifdra qwa wam 12

Ans " 1.Rs.1,700
X 2.Rs.1,800
/< 3.Rs.1,850
X 4.Rs.1,750

Question ID : 26433075660
Status : Answered
Chosen Option : 1




Q.21 TfQ tan (a + B) = V3,tan (a - B) = 1 T W (a + B) TYUT (o - B) <A BIVI &, &l tan (60) BT
A |82

Ans X 1.0
& 2. -1
X 3.42-1
X 4.1

Question ID : 26433080254
Status : Answered
Chosen Option : 4

Q.22 16, 26 3R 32 HT IFYUTTUTH FT 3?2

Ans X 1.24
X 2.54
X 3.16
& 4.52

Question ID : 26433066257
Status : Answered
Chosen Option : 4

a =
2 gfr . rfaﬂ? ‘”‘F%fﬁ”’ Y9 1 A SRR

%ty
Ans 3721
v 1. —
223
384
387

X 2.

341
343

X 3.

361
x4 —

363

Question ID : 26433075428

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q2 gfry =1+3 + V2 & ar2y* — 8y® — 6y + 28y — 84 T AT FITEIM?

Ans

X 12013
72 40V3
X3 80V3
x4 60v3

Question ID : 26433086288

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.25 TH YT & Uy F UTSIH, URTHA BT 10 AT 3R UG $T R A1 21 Afe A9 45 3 Y
YT T 872
Ans 7 1.3285

< 2.2895
< 3.4123
< 4.5412

Question ID : 26433075408
Status : Answered
Chosen Option : 1

Section : English Comprehension

Q.1 Parts of the following sentence have been given as options. Select the option that
contains a grammatical error.

The article that she wrote / for the last week's Sunday Supplement / fairly criticises /
the abuse of mobile phones.

Ans X 1. for the last week’s Sunday Supplement
25 2. The article that she wrote
/< 3. the abuses of mobile phones.

« 4. fairly criticises

Question ID : 26433073827
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate ANTONYM of the underlined word.
Evolutionary psychology is a recently advanced field of study, which has grown
exponentially with interest since the 1980s.

Ans X 1. Presumptuous
/< 2. Operative
¢ 3. Rudimentary
/< 4. Lackadaisical

Question ID : 26433061568
Status : Answered
Chosen Option : 3

Q.3 Choose the incorrectly spelt word.
Ans X 1. Construction

«” 2. Evolutoin
/5 3. Streamlining
/< 4. Barbaric

Question ID : 264330104755
Status : Answered
Chosen Option : 2




Q.4 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

Holi is a festival of revelry and camaraderie which is celebrated between the country.
Ans X 1. No substitution

5 2. celebrated at the country
” 3. celebrated across the country

/5 4. celebrated upon the country

Question ID : 26433073939
Status : Answered
Chosen Option : 3

Q.5 Select the correct indirect form of the given sentence.
The professor said, “l want you to pursue your dreams” .

Ans X 1. The professor says that he wants me to pursue my dreams.
/< 2. The professor said that | want you to pursue your dreams.
/< 3. The professor told me that | wanted you to pursue your dreams.

«” 4. The professor said that he wanted me to pursue my dreams.

Question ID : 264330104618
Status : Answered
Chosen Option : 4

Q.6 The question below consists of a set of labeled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.
P. Despite that my guide Raj Lama sent me hiking up yet another trail to try to get a
better view.
Q. | was not impressed, and | let him know.
R. | was on the Chele La mountain pass in west Bhutan.
S. The weather was ominous and it was raining too.

Ans X 1.QPRS
< 2.SQPR
« 3. RSPQ
< 4. SRPQ

Question ID : 264330104713
Status : Answered
Chosen Option : 4

Q.7 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.
More than 200 eminent Indian Americans attended the reception at the East Room, a
venue which has some of the landmark events related to the India-U. S.
relationship.

Ans X 1. grounded
< 2. surpassed
#< 3. rebuffed
«” 4. witnessed

Question ID : 264330104765
Status : Answered
Chosen Option : 4




Q.8 Select the most appropriate meaning of the given idiom.
Play it by ear

Ans X 1. To improve

X 2. To listen carefully

o 3. To do something without special preparation

X 4.Toplan

Question ID : 26433060711
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate ANTONYM of the given word.
Vigilant

Ans X 1. Dubious

«” 2. Negligent

#< 3. Robust

2 4. Stagnant

Question ID : 26433071785
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate option to fill in the blank.
One has to the risks associated with global warming.
Ans X 1. break in mind
/< 2. take in mind
o 3. bear in mind
< 4. cook in mind

Question ID : 26433088784
Status : Answered
Chosen Option : 3

Q.11 Select the correct passive form of the given sentence.
The snow-storm might have delayed Mira.

Ans & 1. Mira might have been delayed by the snow-storm.
5 2. Mira may have been delayed by the snow-storm.
/< 3. Mira might be delayed by the snow-storm.
2 4. Mira may be delayed by the snow-storm.

Question ID : 264330104552
Status : Answered
Chosen Option : 1

sentence.

They met yesterday, haven’t they?
Ans X 1.isn'tit?
X 2. don't they?
X 3. did they?
« 4. didn’t they?

Q.12 Select the most appropriate alternative to replace the underlined segment in the given

Question ID : 26433088638
Status : Answered
Chosen Option : 4




Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution’.

No sooner did this idea enter his head, than it carried conviction with it.
Ans & 1. No substitution

< 2. No sooner has his idea enter
< 3. No sooner do his idea enter

< 4. No sooner does this idea enter

Question ID : 26433073899
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate synonym of the underlined word.

My father took a moment to ponder before signing the deeds of our ancestral home.
Ans X 1.Brief

¢ 2. Contemplate
< 3. Sigh
< 4. Hesitate

Question ID : 26433071779
Status : Answered
Chosen Option : 2

Q.15 Select the INCORRECTLY spelt word in the following sentence.
Kamal’s repetative mistakes and slip of tongue often create embarrassing moments
for him.

Ans X 1. moments
& 2.slip
5 3. embarrassing

«” 4. repetative

Question ID : 26433058608
Status : Answered
Chosen Option : 3

Q.16 Select the most appropriate ANTONYM of the given word.
Anxiety
Ans X 1. Agitation
«” 2. Relief
/< 3. Stress
#< 4. Discomfort

Question ID : 26433060893
Status : Answered
Chosen Option : 2

Q.17 Select the correct passive form of the given sentence.
She has learned many lessons in this camp.

Ans X 1. Many lessons were learned by her in this camp.
< 2. Many lessons has been learned by her in this camp.
5 3. Many lessons are being learned by her in this camp.

«” 4. Many lessons have been learned by her in this camp.

Question ID : 264330104564
Status : Answered
Chosen Option : 4




Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Many companies displaced paying income tax last year.
Ans X 1.hedged to paying
5 2. circumvent to paying
/< 3. hedged in paying
«” 4. evaded paying

Question ID : 26433088172
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate meaning of the underlined idiom in the given sentence.

| bought some extra copies from the stationery shop. These may come in handy
during exams.

Ans X 1.Be sold
2 2. Bring luck
75 3. Cause trouble

o 4. Be useful

Question ID : 26433071993
Status : Answered
Chosen Option : 4

Q.20 Parts of the following sentence have been given as options. Select the option that
contains a grammatical error.

Mother said that / it was quite all right / for her to get upset / for scoring less.
Ans X 1. for scoring less.

& 2. it was quite all right
/< 3. Mother said that

5 4. for her to get upset

Question ID : 26433073822
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Culture can be a beautiful thing. There are many aspects that make up one’s culture. Whether
it may be the clothing, language, religion, food, traditions or even music, all aspects play a
(1)___role in making up a person’s culture. | think culture is so important because it does
not affect only one person; it affects the (2)___ and also affects the other people around it. |
am happy to know my culture and to know where my family (3)____ from. It gives me the
sense of being whole, and at the same time makes me feel (4)_____ and different from other
people. Different cultures and different people make our country the beautiful melting pot we
are (5) to call it.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.calm

< 2. busy
«” 3. huge
< 4. clumsy

Question ID : 26433086422
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Culture can be a beautiful thing. There are many aspects that make up one’s culture. Whether
it may be the clothing, language, religion, food, traditions or even music, all aspects play a
(1)___role in making up a person’s culture. | think culture is so important because it does
not affect only one person; it affects the (2)___ and also affects the other people around it. |
am happy to know my culture and to know where my family (3)____ from. It gives me the
sense of being whole, and at the same time makes me feel (4)____ and different from other
people. Different cultures and different people make our country the beautiful melting pot we
are (5) to call it.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.course

X 2. career
25 3. climate

«” 4. country

Question ID : 26433086423
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Culture can be a beautiful thing. There are many aspects that make up one’s culture. Whether
it may be the clothing, language, religion, food, traditions or even music, all aspects play a
(1)___role in making up a person’s culture. | think culture is so important because it does
not affect only one person; it affects the (2)___ and also affects the other people around it. |
am happy to know my culture and to know where my family (3)____ from. It gives me the
sense of being whole, and at the same time makes me feel (4)____ and different from other
people. Different cultures and different people make our country the beautiful melting pot we
are (5) to call it.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans & 1. originated

/< 2. managed
< 3. imagined
5 4. drawn

Question ID : 26433086424
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Culture can be a beautiful thing. There are many aspects that make up one’s culture. Whether
it may be the clothing, language, religion, food, traditions or even music, all aspects play a
(1)___role in making up a person’s culture. | think culture is so important because it does
not affect only one person; it affects the (2)___ and also affects the other people around it. |
am happy to know my culture and to know where my family (3)____ from. It gives me the
sense of being whole, and at the same time makes me feel (4)____ and different from other
people. Different cultures and different people make our country the beautiful melting pot we
are (5) to call it.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1. helpless

X 2. careful
o 3. original
5 4. evil

Question ID : 26433086425
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Culture can be a beautiful thing. There are many aspects that make up one’s culture. Whether
it may be the clothing, language, religion, food, traditions or even music, all aspects play a
(1)___role in making up a person’s culture. | think culture is so important because it does
not affect only one person; it affects the (2)___ and also affects the other people around it. |
am happy to know my culture and to know where my family (3)____ from. It gives me the
sense of being whole, and at the same time makes me feel (4)____ and different from other
people. Different cultures and different people make our country the beautiful melting pot we
are (5) to call it.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans 7 1.proud

< 2. innocent
< 3. thoughtful
< 4. grumpy

Question ID : 26433086426
Status : Answered
Chosen Option : 1
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